PROBLEMAS DE QUIMICA

TERMOQUIMICA
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Problema 401: Realiza os seguintes cambio de unidades:

a) 25°C (a °F)
b) 100°F (a °C)
¢) 0°F (a °C)
d) 25°C (a K)
e) 350K (a °C)
f) 50 cal (aJ)
g) 100J (a cal)

a) 25°C (a °F)

b) 100°F (a °C)

¢) 0°F (a °C)

d) 25°C (a K)
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T(°C) T(°F)-32
100 180

25 T(°F)-32

100 180

T(°F)= 251'01080 +32=77°F

T(°C) T(°F)-32
100 180

T(°C) _100-32

100 180
T(°C)= 10&_032 -100=37,78°C

T(°C) T(°F)-32

100 180

T(°C) _0-32

100 180

T("C):%&OO:—U 78°C

T(K)=T(°C)+273=25+273=298K
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e) 350K (a °C)

T(°C)=T(K)—273=350—273=77°C

f) 50 cal (aJ)
50cal:50cal-4’18J =209J
ca
g) 100J (a cal)
1007=1007 - 9L —53 99 cqi
418J
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